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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Define the term control system. Differentiate between closed loop and
open loop control system.
Derive the transfer function for Armature controlled D.C. motor

Explain the rules for finding Transfer function using block diagram
reduction technique.
Find the transfer function for electrical network as shown in Fig-1

OR
For the mechanical system as shown in Fig-2(i) write differential equation
(if)draw force voltage analogous system.

Find the C(s)/R(s) for Fig-3 using block diagram reduction method.
Derive the equation for steady state error of first order system when
subjected to step input.

OR
Find the C(s)/R(s) for Fig-4 using Masons gain formula.
Define the following term with neat sketch of transient response of second
order control system(i)Rise time (ii) peak overshoot.

Determine the stability of closed loop control system having characteristic
equationS®*$*+253+25%+115+10=0 using Routh stability criteria.
The closed loop transfer function of unity feed back control system is
given by C(S)/R(S)= 10/S*+4S+5 determine damping ratio, natural
frequency of oscillation.

OR
Determine the stability of closed loop control system having characteristic
equationS®*S*+55*+35%+25%-45-8=0 Routh stability criteria.
Sketch root locus for open loop transfer function of unity feedback control
system and find value of K for marginally stable system
G(s)=K/S(S+1)(S+3).

State the rules for plotting root locus.
Discuss about nyquist criteria for system stability.
OR
Write a short note on polar plot.
Draw Bode plot for system whose open loop transfer function is
G(s)H(s)+4/S(1+0.5s)(1+0.08s).

*khkkkkkhkkkkik

07

07

07

07

07

07
07

07

07

07

07

07

07

07
07

07
07



w1 2 $AA Red ofl calval Wl wa AUt U A sABGU RizeH
AR oll dglelc AL
A AR Sl Sl MR o 2l $5Aet ANl
wei—2 % oclls stAUH Rssat ofl Ad Ul 2lersR $520t el HER oll [
TRILTEN

A4 gl 1 Ul ddldd sARsA Aeds of 2ledsR $52st ANl
AYal
A sl R vl ddldd P3RsA R MR of SER{lud 8saal dull

Ual S ARy AellAldl RreH €13
wei—3 2 usld ¥ MR Cs)/R(s) ocAls stauH (Rssalet ofl ld &l aleus?
$5900l A,
A4 g BlSR RAReH A RU Setyeuiual Hi wld dl Hadl 31 e ARR

ual Hi2 of 8sAAet A,
YL
w—3 2 Dot Aol Sjctl Ul wusld ¥ 1R C(s)/R(s) W .

A505 AR 52t ReHHERZ ol 2lFH RRWAUER QA cautvul 1A
(1A 28U () Ms wWAYe.
wei—y 2 AGYU Rl siFeRul ofl Heedl sABAU $AA RieME Bof
35e3l@Rs B5A2lol S¥SH+25%4+25%+115+10=0 ® Aofl Rollellél .
4 Ylglsas 5 RReU ¥ Vo SABAU 2lor$R $52l0t Ul Yol
C(S)/R(S)= 10/S+4S+5 Aol M2 SHULoL 22020 Aal AuA ($5ct0r(l
Alg Aot .

T

wei—¥ 0 AGYU Rl slS2Rul ofl Heedl sARBAU 5AA R2UE Bof
3523 s ©5A2el ST S5 +5544+35%+25%-45-8=0 & Aoll wollclldl .

4 YRlglsAs 5 R 3 Bof AU UAGU Lo 520l
G(s)=K/S(S+1)(S+3) B ll Aol 32 AlsU €13l Hddellcll R K ofl
ERTTSENO

32 AlsU ElRAl HIER ol ([l cul.

4 ReuRoldldl W augsclae stegF2lui wHesdl.

ML)

WY

weiml 2 WARWAR UR Slellu cul.

4 AUUAGU Zlo$R 55Ut G(S)H(s)+4/S(1+0.55)(1+0.08s)HIE A3 Ale
LRl

*kkkkkhkikikkikk






